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From tlic-p tli(> following corroctiuns woro obtainod.

67 = -III km
bK = +\'M km.

5/\i= -i:?(l km.

OC - - •()()()

5w = +0°17
67' = -OOi;} (lay

Tlic value (if 1"/'" foi' the normal i)lac('H was rcdiK-cd from 105 to 95-

The prohat)lc error of a plate, based on tlie ;50 employed in the solution, is

± :{S km. i)er seeond for the primary, and ± .');? for the seeondarv.

Th(^ following, tlion, are the revised olrmrnts, with their probable errors

which are given as i)rovisional for ihe time being.

/' = l.")-98() days

(' = 504 ±025
a' = 355° -2 ±7°0
0)1 = 175° -2 r7°0
A' = 63 '34 km. + 3-35 km.

A'. = 73 fM km. ±3-98 km.

7 = -13- 11 km. ±3-50 km.

T = J.D. 2,419,408-027 ±143
(1 sin / = r2,()2t),()00 km.

(/i sin )
= 13,981,000 km.

//( sin"' / = 1-48 Q
ni^ sin' / = 1-27


